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PHOKIR) 5.8~8. 6 5.8~8.6 6.3(20°C)
BOD mg/0 20 10 0.7
COD mg/0 :‘F»?J 30 E 20 6.8
il E mg/0 | 3t 20 2 5 <1
A~F R mg/0 | ¥ 10 B 10 <1
7= /)—/VA mg/0 i 0.5 % 0.5 <0.025
&R mg/0 1 fiE 1 <0.01
T4 mg/0 2 % 2 0.78
RSk meg/0 10 i 10 <0.1
W~ AT mg/0 10 r 10 0.6
ESV4=FN mg/0 2 2 <0.04
PER mg/0 20 10 1.0
20/ mg/0 1 1 <0.06
HRIT L mg/0 0. 03 0. 03 <0.003
T mg/0 1 1 <0.1
HH A mg/0 1 1 <0.1
0 mg/0 0. 1 0. 1 <0.01
VA IiZA=EN mg/ 0 0.2 0.5 <0.01
R mg/0 0.1 0.1 <0.01
HaAkER mg/ 0 0. 005 0. 005 <0.0005
TR IR mg/ 0 MitiEhzanc e BitiEhianze T
RV e 7 ==L mg/0 0. 003 0. 003
FZarxFL mg/0 0.3 0.3
Th7/7vnTFL mg/0 0.1 0.1
D/4=i=5 5 V4 mg/0 0.2 0.2
uEAb bR SR mg/0 0. 02 0. 02
1. 2—Y/npxiy mg/0 0. 04 0. 04
1. 1—v/rnxFLv mg/0 1 1
VAL, 2—Y/unTF L mg/0 0.4 0.4
1. 1. 1—-KNrmaxs mg/0 3 3
1. 1. 2— K N)rmaxg mg/0 0. 06 0. 06
1. 3—v/rura~y mg/0 0. 02 0. 02
FUT A mg/0 0. 06 0. 06
ey mg/0 0. 03 0. 03
FA_RHNT mg/0 0.2 0.2
NV mg/0 0.1 0.1
L mg/0 0.1 0.1
1FHFE mg/0 10 10
o mg/0 8 8
1. 4—UA %Y mg/0 0.5 0.5
PN T e 18/ cm3 3,000 3,000 <30
TrE=T R me/0 5100 - <0.7
A IR 2 3R O 2255 | me/0 <0.4
Hite A4 me/0 | 4k 4k 240
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